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(B F)
& B ¥ 5 % # IF % WIEERTEE
F1 BEIFIEZOI
I FEITHRA
1 EXBEERIIA 25, 000 0 25, 000
(1) EAREFEF BUIXA 25, 000 0 25, 000
2 =EBILA 65, 000 0 65, 000
() BEBLESEIA 65, 000 0 65, 000
3 FEFERA 3,210, 000 840, 000 4, 050, 000
(1) H BRI A 2,500, 000 650, 000 3,150, 000
(2) WU IR A 70, 000 20, 000 90, 000
(3) AT RUE FHIXA 640, 000 170, 000 810, 000
4) ZFEIIRA 0 0 0
4 FULA 10, 000 0 10, 000
(N ZmHAE 9,000 0 9, 000
(2) HUR A 1,000 0 1,000
5 MIEHLILILDBEALILA 0 500, 000 500, 000
M EAEEHISDBEASINA 0 500, 000 500, 000
EEFREULAG 3, 310, 000 1,340, 000 4, 650, 000
I FEIHZH
1 E%E 2, 655, 000 A 100, 000 2, 555, 000
M ERIRESEEE 1, 250, 000 0 1, 250, 000
QL -ERRESEE 290, 000 A 100, 000 190, 000
Q) RAEAREXEE 340, 000 A 150, 000 190, 000
Q) BAXRREREE 5,000 0 5,000
(5)&EIBREE 770, 000 150, 000 920, 000
2 EBE 350, 000 0 350, 000
ES el b A 3, 005, 000 A 100, 000 2, 905, 000
FETHYINEESE 305, 000 1, 440, 000 1, 745, 000
g2 BEITFIZOI
I HREFHIRA
1 HBEEEAELERA 450, 000 0 450, 000
(1) EZA-EEELEITTASEEG LA 0 0 0
(2) FNRE R ERIEE B TESEE LA 0 0 0
(3) BRAXEBIITASEE LUILA 450, 000 0 450, 000
BREFZHIAG 450, 000 0 450, 000
I ®REFTHIH
1 EXRBERGEXH 0 500, 000 500, 000
(1) BEXRMERSXZH 0 500, 000 500, 000
2 BEEER/XIE 907, 000 300, 000 1,207, 000
(1) BEKE55I4TEEH 7,000 0 7, 000
(2) BM{EMNSI HTEEZH 700, 000 300, 000 1, 000, 000
(3) ATZREMERSILTEEH 200, 000 200, 000
(4) BEXEREILITESZE 0 0
3 EEEERS/XE 200, 000 50, 000 250, 000
(1) BHEERSIZH 50, 000 50, 000
(2) HHRELKREXZH 5,000 5, 000
Q) VEEERMB/XIZH 1,000 1, 000
4) VIMITIREXZH 144, 000 50, 000 194, 000
BEFE I HE 1,107,000 850, 000 1,957, 000
HEFEINT EEE A 657,000 A 850, 000 A 1,507,000
E3 HEFEFIZOIR
I MBEEHIH
1 BEASREXH 0 0 0
(1) RHBEASREXSE 0 0
BAFEE X HET 0 0 0
BRI =58 0 0 0
T4 FREXZH 50, 000 0 50, 000
LHN T = EE A 402,000 590, 000 188, 000
ATHA RN =48 711, 345 0 711, 345
REAER IR T E4E 309, 345 590, 000 899, 345




